AF-4004

B.Com. (Part-I)
Term End Examination, 2017-18

Group - A
Paper - 1

Financial Accounting

Time : Three Hours] [Maximum Marks : 75

qe 9t gl & SW AN Wl T F s
e F |

Note : Answer all questions. All questions carry equal
marks.

1. @ fagmai &1 gRenfyd wd afvla
FHIMT qAT STk Heed TA  HHIST &
fafEw |
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(2)

Describe and define accounting principles

and write their significance and limitations.

3794T / OR
frafafgs 9 &1 SHa § fafew:
(@) ¥1,20,000 @ USRS TqAT 80,000 i
TS 9 FOR URY TR
(b) fA91 &1 T =1 ¥8,000 |

(¢) T & qui g # 9% g foan
T7,9001

(d) W9 ¥ A @R 3,500

() TS @@ & WA & fay *9F
et 8001

(/) 9% H TR S w T 12,000 |

(g) TH I HAA 5% AMMRe T aodl 4%

o

ks S W Toha a1 5,000

(h) I ¥ AT 6% AMMNE ® qAA 5%
ks T2 W The @I T 12,000 |

() 9 9 A & fauw e ura gsm
T 6,500 |
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(3)

(j) M & S ¥ 7,000 & AW AL
B A qAT M Ho H TH TE HI
e & oA

Journalise the following transactions :

(a) Commenced business with cash
¥ 1,20,000 and goods worth ¥ 80,000.

(b) Sold goods to Dinesh ¥ 8,000.

(c) Received cheque from Dinesh in full
settlement ¥ 7,900.

(d) Purchased goods from Mahesh ¥ 3,500
(e) Drew T 800 for repair of own house.

(f) Amount deposited into Bank I 12,000.

(g) Sold goods to Ram at 5% trade
discount and 4% cash discount for cash

¥ 5,000.

(h) Purchased goods from Naresh at 6%
trade discount and 5% cash discount for

cash ¥ 12,000

(/) Received orders for goods from Ramesh
¥ 6,500.
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(4)

(/) Goods worth ¥ 7,000 get destroyed due
to fire and the insurance company

accepted the claim.

ZhTS / Unit-11

2. AYfgdl % gUR ¥ M N §Eed © 2
Tk us wd fguaie ergfedil dem S«
YUR Hl W= FI 9 AU

What do you understand by rectification of
errors ? Explain clearly one-sided and two-
sided errors and their rectifications.

37g4qr / OR

o Sfae &t gl ¥ 31 HE, 2017 &
fr=ifrd 99 3Igya feu 7w

IEELY| 7 IEELY| 7
it 24,500 | 30T 7,880
STELIT 2,000 | fasha 65,360
T = 2,500 |9 47,000
CE| 11,000 | HIETHR 2,000
EENIEK 9,340 | gad kU1
YR Wik | 16,200 | fo@ smasH=| 900

171_BSP_(15) (Continued)



(3)

Terercur 7 Terercr 7
FrFer AR v | 2,240 | HHEE
(shfee) 1,320
X TE o 1,315| R F @F | 1,800
BN 7,200 | <F fora 3,850

A9l (TER) | 6,280 | e ks 80
I (WFER) | 2,500 | Sk Afufaend | 3,300
ATER (Sfae) 550 | qM 105

frefafegd T9R—ISA & &€ 31 HNE, 2107

H AT BH 9l 99 & fau Afdw @

TR ifeTa

(@) 160 Tad kKU I AufaifEd  ifSg
Td TRl W 5% gaId KT H1 STESH
HIFST |

(b) WG W 10% AR HRTER W 12%
AU H TMUAT HIGTI

() T750 H/UT qUT o Affowd W AN
H A AR B

(d) T250 Ufio® TWIARd &k Th <M
HY RY HH w1 fAvea feam &
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() ®X & G qUT T T 3

(6)

1

F @ B e ¥
(f) 31 "=, 2017 I qedifhd i T 23,500

7

O St

The following balances are extracted on 31st
March, 2017 from the books of Mr. David :

Particulars T Particulars T
Capital 24,500 Loan 7,880
Drawings 2,000| Sales 65,360
General Expenses| 2,500 |Purchases 47,000
Building 11,000 Motor Car 2,000
Machinery 9,340 Provision for
Opening Stock [16,200 Bad debts 900
Coal and Power | 2,240|Commission
Taxes and (Cr) | 1,320

Insurance 1,315 Car Expenses 1,800

Wages 7,200|Bills Payable 3,850

Debtors 6,280 Cash in Hand 80

Creditors 2,500|Bank Overdraft| 3,300

Discount (Dr.) 550| Donation 105
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(7)

Prepare the Final Accounts for the year
ended 31st March, 2017 after taking into
account of the following adjustments :

(a) Write off ¥ 160 for bad debts and make

provision for bad debts at 5% on
debtors.

(b) Depreciate Machinery by 10% and
Motor Car by 12%

(c¢) Interest of ¥ 750 is outstanding on Loan
and Bank Overdraft.

(d) It was decided to start a Charity Fund

by transferring ¥ 250 evey year to the
Charity Fund.

1 ..

(e) 3 of car expenses and depreciation
amount is to be transferred to owner’s
account.

(f) Stock wvalued on 31st March, 2017
¥ 23,500.

THTS / Unit-I1T

3. A 9 N T? TUR ged k9 fwen
ST B2 3He U uwd el o fafEy
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(8)

What is secret reserve ? How is it created ?

Write its merits and demrits.

37g4qr / OR

1 SHEl, 2012 I S0 @A 4 UH
TeI-Y WA $1,35000 § %A &l I8
SAaE e T fe weie o5 e d@®
ST W oS iR 5 9y W gt W
SUH AT Hed ¥35,000 BEMI HIA
% giaeadd % fauw 4% 1 afte X 9
fafifsa std Q¢ Tew MYA-HY 61 god
fem T uma wd % s H  fafmEm
81,750 ® w9 feu i foafdnm wue
qifclehl o AR 4% differ &N
70.18463 Wfd &¥ @ fat@m 5 a9 &
qE T BN UIAA @I, SNEE ¥ @il
qar e W fafEm @@ IR wifse

(oMt hedq T9@ U wifSo) |

On Ist January, 2012 Dr. Awasthi purchased
an X-Ray machine for ¥ 1,35,000. It is

expected that machine will remain in use
for 5 years and then its scrap value will be
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(9)

¥ 35,000. A sinking fund created to replace

the machine by investing @ 4% per annum.
At the end of the fifth year investment was

sold for ¥ 81,750. As per sinking fund table
at 4% interest per annum an amount equals
to ¥ 0.18463 should be invested every year

to receive one rupee after 5 years. Prepare
the Machinery Account, Sinking Fund
Account and Shinking Fund Investment
Account (calculation should be made to
nearest rupees).

RS / Unit-IV

4. fFm ymam usfa &1 *=0 omm T2 fewEn
#a ugfa R fFm yam ugfa # @0
IR ®?

What is the meaning of Installment System ?
What is the difference between Hire
Purchase System and Installment System ?

37g4qr / OR

oo N

‘T’ ST fafiees w1 g wEiad TR
¥ R zEw W faamRr # ¥ Ouw
M@ e qd1 IR Al UHR i e
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(10)

wt T frAifed geEmell % MR W
St2017 § = wEie™ iR W 9§

Hafyd §, T SA@d & Q&R § S

@l 3R STeR gEl @ife

Terercr 7

IRy wida 10,000
RIS TIER 5,000
el 4 g sEied |

qrel g1 fopen 35,000
I o T o & ke ASH 2,000
Tehg Tt 20,000
TR 9 %S g i 10,000
M@l R WA dlern 500
Hfaw widan 6,000
0= e 9 31 feamr, 2017

=R e el 1,000
TTEehl 4 AT Al 3,000
TEehl 1 il of 500
YT RO 1,500
IYR Toht 30,000
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(11)

‘X’ Co. Ltd. has its Head Office at Raipur
and Branch Office at Bilaspur. The Branch
sell for cash as well as credit. With the
help of the following transactions which
took place between Head Office and Branch
Office in the year 2017. Prepare Branch
Account and Debtors Account in the books
of Head Office :

Particulars T

Opening Stock 10,000
Opening Debtors 5,000
Goods received by the

Branch from Head Office 35,000
Cash sent to Branch for expenses 2,000
Cash Sales 20,000
Cash received from Debtors 10,000
Goods returned by the Branch 500
Closing Stock 6,000
Goods-in-transit from Head Office

on 31st December, 2017 1,000
Goods returned by the customers 3,000
Allowed Discount to customers 500
Bad debts 1,500
Credit Sales 30,000
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(12)

3eTS / Unit-V
5. WEEN W@ #® %7 WEeN §Wod %
AqvE H WERN % "e sH-9 fEm ang
g1 ?
What is Partnership Deed ? What rules shall

be applicable against partners in the absence
of partnership deed ?

37947/ OR
‘X°, Y’ 3R ‘7’ FHF 9WEER €1 30 fEawR,
20177 & Y’ @ G B T H GERA
% foged o fofa foam e @ fafa
@ ®H w1 TEgr FEER on:

MRkl T Hufwat RUEY
(%) (?)
TSR 18,400 | THg 1,500
T TIER 23,500
g9 9,600 | ST :
E IR FESE 2,000 | 21,500
‘X’ 3,200 why 27,250
‘2> 1,800 | 5,000 | ®HT=R 2,750
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(13)

T | O Hufeat afe
(%) (%)
ISt @ TgS T WA | 20,000
X’ 25,000 BRCIESICE
‘Y’ 20,000 EiE IR IESES] 18,000
“Z’ 15,000 | 60,000 | Y’ I
=0e] @l 2,000
93,000 93,000

g Sited |1 Oifersl ¥ 30,000 Wit
3R TUH @l YWl H YU oI W
fean &wan a1 X0 d wAER dU1 HE@T T
I & ¥ 20,000 H fe@m) 2> 7 @hYy &l
JEHE 9 ¥ 20% wH R o e |
¥ T4,500 god B MC qA AT H 80% W
I B MW Y hI GG o RRU G
Sited | o6t URT 9T el T | ARSI
W 2,500 F @ A A @ U eew =l
qfed ¥ 19,200 YU A H FHIT T¢I A
T, WERR % AR WM, et @[ ud
(e @i IR |
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(14)

‘X’, Y’ and ‘Z’ are equal partners. On 30th
September, 2017 due to death of ‘Y’ it is
decided to dissolve the firm. On this date

the firm’s Balance Sheet was as follows:

Liabilities |Amount Assets Amount
(%) (%)

Creditors 18,400 | Cash 1,500

General Debtors 23,500

Reserve 9,600 | Less :

Current A/c’s Provision  2,000( 21,500

‘X’ 3,200 Stock 27,250

‘2> 1,800 5,000 | Furniture 2,750

Capital A/cs Plant and

‘X 25,000 Machinery 20,000

‘Y’ 20,000 Joint Life Insu-

A M 60,000 | rance Policy 18,000

‘Y’s Current A/c | 2,000

93,000 93,000

Joint Life Insurance Policy was for ¥ 30,000

and

it was recorded in the books at its

surrender value. ‘X’ took Furniture and Plant

& Machinery for ¥ 20,000. ‘Z’ took the
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(15)

stock at 20% less of book wvalue. Out of
Debtors 4,500 became bad and from balance
debtors realised only 80% amount. Due to
death of ‘Y’ amount of jount life insurance
policy was duly received. Creditors including

¥ 2,500 unaccounted outstanding expenses
paid ¥ 19,200 in full settlement.
Prepare = Realization = Account,  Partners

Current Accunts, Partners Capital Accounts
and Cash Account.
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